Supplementary materials

Table. Correct trials and count trials for ERP analysis in Go/Nogo and Stroop tasks.

Trials
Tas Correc  Correct Trials count
k t trials trials count for for
trial count count for ERP ERP
s for RT RT (%) analysis analysi
s (%)
Go/Nogo
159.81 99.88 + 149.19+ 9336+
1
GoOG 160 h40 025 9.02 5.66
159.85 99.90 + 15092+ 9442+
GoCG 160
0 +0.46 0.29 11.20 6.98
3938 9846+ 37.65 + 95.62 +
NogoOG 40 151 55 2.65 6.43
39.31 98.27 + 3735+ 95.05 +
N 4
020 CG 40 101 553 2.24 5.86
Stroop
99.15 99.15+ 93.15 + 93.98 +
Congruent OG 100 g5 g5 171 11.94
98.88  98.88 92.69 + 93.66 +
Congruent €G- 100 66 166 1652 1647
97.00 97.00 + 90.23 + 93.04 +
Incongruent OG 100, oo c5 1137 1140
97.54 97.54+ 89.92 + 92.16 +
Incongruent CG 100 £3.08 308 15.33 15.43

Values are means + SD. OG, Obese group; CG, Control
group.
Correct trials count for RT (%) = 100 * Correct trials
count for RT/ Task trials;
Count trials for ERP analysis (%) = 100 * Count trials for
ERP analysis / Correct trials count.



